Best model for HELP J105047.294+573326.053 at z = 1.587 x?=1.53

OPTx?=2.03 IRx?=0.3 threshold (OPT IR)=20.69 [um]

107

101

100

Flux [m])y]
=
<

Stellar attenuated
fffff Stellar unattenuated

—— Dust emission
—— AGN emission
= Model spectrum
® Model fluxes
M oObserved fluxes

10-2 ${" S

103

i

=)

(v

‘© == (Obs-Mod)/Obs
=}

S

n

@ e ¥ Lot abaiieieietes suteininleTeTels b Sllelb bbbt b
o ]

= ]

E_l TTTTT T UL | T LA | T LR | LR |

c"é 100 10! 102 103 104

Observed wavelength [um]

T CIGALE



